A & O & AF & F Al A
20228 = 204 YerEl T
EERRGCE N
R EP -
3 ol NoIBERS E2 (ere:@8)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
Ofl L4 X1 & 24 ot 203,654,890 121,349,300 82,305,590
= 140,010,360
Al 63,644,530
A XIOISERI5 =2 5,602,784 4,352,488 1,340,296
2 2,387,360
Al 3,305, 424
WX HAHE AEIRS - 22l 173,138 75,238 97,900
2 1,000
Al 172,138
WHAX 2% DS - 22 78,138 73,238 4,900
201 Lt 2 bl 58,338 57,238 1,100
01 AR 22l H] 28,338 28,338 0
ONUXESY E2E S 7,500, 0002 7,500
OsRHHN 22 2,337,500% 2,338
Osg+2(gos 2 NUXNISI} I2 +¢)
6.500,0008! 6,500
OARE B& g 7,000, 0002 7,000
ONUXESR MSII2 ASDS 5,000,008 5,000
02 BB 2,000 900 1,100
OXSae HHE 98 =T 4AH ol
2,000,0008! 2,000
03 A2 b 28,000 28,000 0
OGI4X |22 MOIL HE S 18,000,0008 18,000
02022 IUXICHE &t 10,000,000 10,000
202 01 bl 14,400 12,400 2,000
01 2 Lol 14,400 12,400 2,000
OOUXI 28 AMEN U HUTAE SHHEA S
14,400,0002! 14,400
203 & R F T bl 5,400 3,600 1,800
03 AIBFTYRETY] 5,400 3,600 1,800
O AI A =& 3.600,0008 3,600
OQF HASBABHSGZY YREA('22.8Al)
1,800, 0002 1,800
NSOUN He +8 X e 2,000 2,000 0
2 1,000
Al 1,000
201 Lt S bl 2,000 2,000 0
2 1,000




s MHHIHAZZ

A Ol XIS 2
oo HRoIESEels &2

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
201 £ B2 Hl Al 1,000
01 AFR2teltl 2,000 2,000 0
OXNZMHXAHE =& wsh 2,000, 000& 2,000
= 1,000
Al 1,000
StEEd HMH OHE HWSHEE Ot 93,000 0 93,000
207 & SO 2 h| 93,000 0 93,000
01 A&l 93,000 0 93,000
OFAZ2 U XdE & XAAS XN2HES Ot
93,000, 000& 93,000
NEUUR 22 2,239,450 2,607,300 A 367,850
= 1,347,700
Al 891,750
ANEEZAL (NSNHXZE L) (HE) (XA 1,140,500 1,440,800 A 300,300
= 553,400
Al 587,100
403 X SHMSHE01H 567,000 756,000 A 189,000
= 324,000
Al 243,000
01 XM= X 567,000 756,000 A 189,000
OloT 2otS 2ts FAMAAMAEE(DIFER)
217,000, 000& 217,000
= 124,000
Al 93,000
OZAUS FAHOANAY A=(2H7)
140,000, 000& 140,000
= 80,000
Al 60,000
OXHALGUHZ YWte MU DHIBAMILR)
210,000, 000& 210,000
= 120,000
Al 90,000
404 SMNSHTAE2EES 573,500 684,800 A 111,300
= 229,400
Al 344,100
01 SA- BEHA=2HES 573,500 684,800 A 111,300
OsIJIMEAL SEXA D88 Wi &
453,500, 000& 453,500




s MHHIHAZZ

A Ol XIS 2
oo HRoIESEels &2

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
= 181,400
Al 272,100
Ottt Exs2 XGoEET WM 120,000,000 120,000
= 48,000
Al 72,000
FHAAHNE AKX =X (XI) 1,098,950 1,166,500 AB7,550
= 794,300
Al 304,650
403 X SHHMSHE0IH 1,098,950 1,166,500 AB7,550
= 794,300
Al 304,650
01 AXIESHMAZ2E X 1,008,950 1,166,500 AB7,550
OFAAE WUXN=SNAS (HASES S LED WHI)
1,098,950, 000& 1,098,950
= 794,300
Al 304,650
ATHEHHX 22 861,226 697,210 164,016
= 401,660
Al 459,566
KNAT AL (HE) 440,733 169,527 271,206
= 188,588
Al 252,145
401 Al EHI S 2O YI 440,733 169,527 271,206
= 188,588
Al 252,145
01 A& HI 440,733 169,527 271,206
OAE A= dXEH & 330,250,000& 330,250
= 133,348
Al 196,902
ONZE119HHE S 20HA EHSZ2LE A AXI(
SEHAYUM) 10,798,000& 10,798
= 5,399
Al 5,399
OZ M9 HHE S 20HA EHLESSE A AX(
S AYAM) 39,874,000 39,874
= 19,937
Al 19,937




A3l
AN

XH -
20

ageR== P B el
0l L X1 & 24 1t
iU XIoIsSeels &2

ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
OS99 HE S 3MA EHYESE S EX(
E2ALYUAM) 59,811,000& 59,811
= 29,904
Al 29,907
KNAX A (KE) 355,493 527,683 A 172,190
= 213,072
Al 142,421
403 X HMS =01 M 355,493 527,683 A 172,190
= 213,072
Al 142,421
01 AHXESHHA2ER 355,493 527,683 A 172,190
OATHMAAKX KSXIAAR (2 - ) 355,493,000 355,493
= 213,072
Al 142,421
AITHA O L X QIAIDH & AFEY 50,000 0 50,000
308 AtXIHHMS0IH 50,000 0 50,000
1 SIS0 Z&E S E A I 50,000 0 50,000
Ox=A0UX AADIHE AHY 50,000,000& 50,000
=4 HEUM 24 XA 15,000 0 15,000
308 AtXI &M S0l & 15,000 0 15,000
08 RFRIIZNHEEE 15,000 0 15,000
O=2 2 s4 XA 15,000,000& 15,000
auHXEss ¢tds =4 2,418,970 972,740 1,446,230
= 637,000
Al 1,781,970
SEXAXSE 0l XIAHE gt 2,000 2,000 0
202 O dl 2,000 2,000 0
01 =W bl 2,000 2,000 0
OEMXE HUXAIEZ=&S 8 048] 2,000,000 2,000
SAIA 2B =HE HEESA 18,000 18,000 0
207 & SO 2 h| 18,000 18,000 0
01 22 EHHI 18,000 18,000 0
OZAIA AHSSHIE MHEES 18,000,000& 18,000
JPAQHA HAANS AMEIHAAM 101,470 99,540 1,930
308 AtXI A S0l & 101,470 99,540 1,930
M SI2S0Het & A& AL I 101,470 99,540 1,930




AR MRS
R

& M oudXolEgels &2 (&9
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
OJtAetE HAAS AIEIHLAES 101,470,000& 101,470
LPG EHSS ALY 1,269,000 814,500 454,500
403 X HM S 201 H 1,269,000 814,500 454,500
01 AHXESHHA2ER 1,269,000 814,500 454,500
OLPG EEHISS AL 1,269,000,000& 1,269,000
LPGEII AFEIt= AIEHE AL 55,500 0 55,500
= 37,000
Al 18,500
403 RIS M E X201 E 55,500 0 55,500
= 37,000
Al 18,500
01 HXESHHA2ER 55,500 0 55,500
OLPGEJl AFEJt7 AIEIHE A 55,500,000& 55,500
= 37,000
Al 18,500
OIS &2l LPG HH2tY X ALY 840,000 0 840,000
= 600,000
Al 240,000
403 X HM S 201 M 840,000 0 840,000
= 600,000
Al 240,000
01 XS A2E = 840,000 0 840,000
OO0t=H9 LPG 22 XI& A 840,000,000& 840,000
= 600,000
Al 240,000
K-HHEl2l &t |4 et g3 229 133,000 0 133,000
207 & SO 2 h| 133,000 0 133,000
01 ¢ EHHI 133,000 0 133,000
OK-thiefel &2 s4 2o ¢ 29 133,000,000 133,000
st 28 Az Gt 197,468,000 116,346,300 81,121,700
= 137,623,000
Al 59,845,000
s#ZdEA s B8 197,468,000 116,346,300 81,121,700
= 137,623,000
Al 59,845,000
HIINsH 22 ¥ 5T RE(2Y) 119,450,000 82,718,800 36,731,200




AR MRS
2 A HUTER D

g M UsSk 2d Az Chest (=&
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
HIHsx E2 ¥ sdaZe 2H(2Y) = 77,574,000
Al 41,876,000
402 212t 201 ™ 119,356,000 82,672,800 36,683,200
= 77,480,000
Al 41,876,000
02 QAR 2ALEE(0IETHE) 119,356,000 82,672,800 36,683,200
OHIISEX UAEZ AL (9,6350H)
92,496,000, 000& 92,496,000
= 57,810,000
Al 34,686,000
OFIIHA QIAEZAS (620H) 4,960,000, 000& 4,960,000
= 4,340,000
Al 620,000
O&®IIst= Xt 2I2tE S A (1,0950H)
21,900,000,000& 21,900,000
= 15,330,000
Al 6,570,000
404 SMNSHTAEEES 94,000 46,000 48,000
= 94,000
01 SA - B2 HES 94,000 46,000 48,000
O33J& MIKNSK Exz(odsF3C 301, 2
HAUSESTHE 1) 24,000,000& 24,000
= 24,000
O33J& MIISEx E=(ddsd3E 20, 2
HWEI A 300) 70,000,000& 70,000
= 70,000
IS 22 2 sHZe E(XFY) 510,000 273,000 237,000
= 510,000
403 AXISHMEX=201E 510,000 273,000 237,000
= 510,000
01 AHXESHHA2ER 510,000 273,000 237,000
023712 MIXNsSX E=(=2+ 49U0)
510,000,000& 510,000
= 510,000
HII0IEX BESAY 2,376,000 1,800,000 576,000
= 1,188,000
Al 1,188,000
402 QI2t =01 & 2,376,000 1,800,000 576,000




O|o

2ol MEIH A2

A Ol XIS 2

3 oM NsH e¥ o2 O (et @
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2

402 212t X201 & = 1,188,000
Al 1,188,000

02 QAN 2MAEE(0IXMS) 2,376,000 1,800,000 576,000

OHII0IEX 212 B3 A (1,3200H)

2,376,000, 000& 2,376,000
= 1,188,000
Al 1,188,000

HAJATZ(HA) FH B 60,000 0 60,000
= 30,000
Al 30,000

307 212tol & 60,000 0 60,000
= 30,000
Al 30,000

02 2B AAMHEX 60,000 0 60,000
OFAHINAHA FAYH EX 60,000, 000& 60,000
= 30,000
Al 30,000

HANARS(HAR) 2L BX 42,000 0 42,000
= 21,000
Al 21,000

403 X HMSH=201H 42,000 0 42,000
= 21,000
Al 21,000

01 AXIESHA2ER 42,000 0 42,000
OFAINAFAI FH BX 42,000,000 42,000
= 21,000
Al 21,000

HAJNAXE HEH EX 300,000 0 300,000
= 150,000
Al 150,000

307 212to1 & 300,000 0 300,000
= 150,000
Al 150,000

02 Q2tBAAMHE X 300,000 0 300,000
OFHINMA AMUHHA HZH EX 300,000,000& 300,000
= 150,000




O|o

A3l

ageR== P B el

£ M WX E
g M UsSk 2d Az Chest (=&
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HRE2
Al 150,000
F=AHSEXNXT BESAHY 67,130,000 30,735,000 36,395,000
= 54,350,000
Al 12,780,000
402 212t 201 ™ 67,062,500 30,735,000 36,327,500
= 54,282,500
Al 12,780,000
02 QIR E2ASEE(0IETHE) 67,062,500 30,735,000 36,327,500
O=AH0SdEXX 2L BX 49,912,500,000& 49,912,500
= 44,932,500
Al 4,980,000
O==2HA PH 2X(5201) 17,150,000,000& 17,150,000
= 9,350,000
Al 7,800,000
403 AXISH M EX=201E 67,500 0 67,500
= 67,500
01 HXEMU=EX 67,500 0 67,500
Ox2dsd™XX 2L BX(=27) 67,500,000 67,500
= 67,500
T=AEEL ASAY 7,600,000 0 7,600,000
= 3,800,000
Al 3,800,000
402 QIZ2t =201 & 7,600,000 0 7,600,000
= 3,800,000
Al 3,800,000
02 QAN 2MAEEX(0IXM) 7,600,000 0 7,600,000
Ogt=AZdA 2EAMIG 6,000, 000,000& 6,000,000
= 3,000,000
Al 3,000,000
Oget=ASEA PEAY(S4)  1,600,000,000& 1,600,000
= 800,000
Al 800,000
dZ2SZH 44,106 39,227 4,879
Jl2Zul (ol X&) 44,106 39,227 4,879
f M2 44,106 39,227 4,879
201 L EL2H| 26,503 21,595 4,908




s MHHIHAZZ
M XS

3 I dg=233Hl

RS - A - FEH - GA(SH) - HRAY - BHYS 0l &+ e 2

01 AtR2teldl 26,503 21,595 4,908
ORN2S+=EHl 11,503, 000& 11,503
O= &l 15,000,000& 15,000

202 04 Hl 12,803 13,432 A 629

01 =2 LHO HI 12,803 13,432 A 629
OJI2gR=+& 0l 12,803,000 12,803

203 R =&l 4,800 4,200 600

04 FN2ESER=EH| 4,800 4,200 600
OFRNMSSERFAH| 400,000& x12& 4,800

HRes(olu X sz 450,000 611,285 A 161,285

LHEHeHXI & 450,000 585,000 A 135,000

JIEt3 HE &= 450,000 585,000 A 135,000

701 JIEt2 HSHEES 450,000 585,000 A 135,000

01 JIEtSI AN EZ 450,000 585,000 A 135,000
ORAEYEHLSIESH A 450,000, 000& 450,000




